gopoooonoooo

B01la oot i12d0bgooooouooouaon

000000000000000000 (000)00000 (000)00000 (000)0
000 (000)00000(000)000000 (000)00000(000)0000o (0
00)0000(000)0000000000

0000 3C3240000000001200000000000000000 CISCOOOO KOOOOoO
gbooboobooooboobbobobooboobuooboboboboobobobobobooboobooboboboobo
0 K=21.5000 (70% completeness) 00 0000000000000 O0O0OO0O0O0OO0O0OOODOOOOODO
b obobooooboboooboboboboobobooboobouobobobobobobooboboon
goboboboboobooboobooboobooboobooboooboobooboobooobooon
gbboboobooboobooobuoobobbobuooboobooboobobbobboboboobo
000000000 0000 (K<20)O Schechter 0000000000000 OOO0OOOOOOOOOOO
obo02-0900000000000000DO00 0D0O0OOODOO0O0ODOO 23000000 passive 100
gbooooobooboboboooooooboboobooboobooooboboboboooDoDUDbbK=200
googbooooboooobooobooobobooobooboboobobooo boboboob 120000000
oooooOOoOo0o0oOooOoboOooOoOoU0OoO0oOoooooboOOoOo0oUOoUobOboOOOOoUOUOOOOgyg faint-end
ocoooooOo0ooOoooooooooOoOoOODODOOO00000oOoOoOoOooobOOoboboOOboboOO mHsT
WrpPC2 0OOO0O0OOODOOOOOOODOOOOOOOOOODOOOOOOODOOOOOODOODOOOO



